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There was a high standard of learning for women also. In house. they might learn music and dancing. They
had to undergo the Upanayana ceremony.

There were two types of educated women.
1. Sadyodwahas : They are people who pursued studies till their marmages.

2. Brahmavadinis : They are people who did not marry and pursued studies throughout their lives. Women
used to learn vedas and vedangas. Their involvement was more in reciting hymns other ritualistic operations.
Women sages were called Rishikas. The scholarly women could be named as Maitreyi and Gargi.

This phase marks another transition from the spirit of Brahmanas to the spirit of the Upanishads. While the
Brahmanas are called Karma Kanda (Karma 1s another word for yajna) because of total known as Jnana
kanda because here knowledge becomes primary. Since the shift involved total change m attitude. it needed a
link. This phase is called Aranyanka because i1t became relevant when men retired to forests due to old age.
Why should old people retire to forests? Surely. this 1s a provoking. If old people retired to forest, then it must
be due to strong affinity to the place of origin. which prompted them to choose so.

Hence, proper study of philosophy begins only from the Upanishads. In this connection, one question remains
to be answered. The Aranyakas Constitute a phase in the life an mdividual.

Subjects in Vedic Education :

Tt might take twelve years for a student to develop expertise in one Veda and thereafter. 1t would be twelve
years. thirty six years and so on. A graduate was called Snataka and the graduation ceremony was called
Samavartana.

Let's have a look at some other subjects.

1. Ttihas- History

| )

. Anviksiki ( logie)

L%}

. Mimamsa (Interpretation)

=

. Shilpashastra (architecture)
5. Arthashastra (polity)

Sub questions

Question Number : 1 Question Id : 68634020858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Samavartana means

1. Process of not marring and retiring to jungle

[ ]

. Ceremony associated with the snataka.
3. Perusing study till marring

4. process where knowledge is primary

Options :



68634082401. 1
68634082402. 2
68634082403. 3
68634082404. 4

Question Number : 2 Question Id : 68634020859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which as/ are not the synonyms of affinity

A. Harmony
B. Rapport
C. sympathy

D. Aversion

1. B Only

| )

.B and D Only

.CandD

[¥%)

4. D Only

Options :

68634082405. 1
68634082406. 2
68634082407. 3
68634082408. 4

Question Number : 3 Question Id : 68634020860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The number of months required to exgertise 1 all vedas for a student 15 :
1.576

27732

144

L¥¥]

4. 288

Options :

68634082409. 1
68634082410. 2
68634082411. 3
68634082412. 4

Question Number : 4 Question Id : 68634020861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which was not a part of Vedic education as per the list given?

1. Renuneciation

(]

. Comumerce and trade
3. Recreational archives

4. Yogasadhana

Options :

68634082413. 1
68634082414. 2
68634082415. 3
68634082416. 4

Question Number : 5 Question Id : 68634020862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al‘ﬂllﬂll}fﬂkﬂ means .

1. Rishikas

[

. Brahmanas
3. The phase Depicting transition from spirit of Brahmanas to the spirit of the Upanishads

4. An old man going to the forests

Options :

68634082417. 1
68634082418. 2
68634082419. 3
68634082420. 4

Question Id : 68634020857 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



There was a high standard of learning for women also. In house. they might learn music and dancing. They
had to undergo the Upanayana ceremony.

There were two types of educated women.
1. Sadyodwahas : They are people who pursued studies till their marmages.

2. Brahmavadinis : They are people who did not marry and pursued studies throughout their lives. Women
used to learn vedas and vedangas. Their involvement was more in reciting hymns other ritualistic operations.
Women sages were called Rishikas. The scholarly women could be named as Maitreyi and Gargi.

This phase marks another transition from the spirit of Brahmanas to the spirit of the Upanishads. While the
Brahmanas are called Karma Kanda (Karma 1s another word for yajna) because of total known as Jnana
kanda because here knowledge becomes primary. Since the shift involved total change m attitude. it needed a
link. This phase is called Aranyanka because i1t became relevant when men retired to forests due to old age.
Why should old people retire to forests? Surely. this 1s a provoking. If old people retired to forest, then it must
be due to strong affinity to the place of origin. which prompted them to choose so.

Hence, proper study of philosophy begins only from the Upanishads. In this connection, one question remains
to be answered. The Aranyakas Constitute a phase in the life an mdividual.

Subjects in Vedic Education :

Tt might take twelve years for a student to develop expertise in one Veda and thereafter. 1t would be twelve
years. thirty six years and so on. A graduate was called Snataka and the graduation ceremony was called
Samavartana.

Let's have a look at some other subjects.

1. Ttihas- History

| )

. Anviksiki ( logie)

L%}

. Mimamsa (Interpretation)

=

. Shilpashastra (architecture)
5. Arthashastra (polity)

Sub questions

Question Number : 1 Question Id : 68634020858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Samavartana means

1. Process of not marring and retiring to jungle

[ ]

. Ceremony associated with the snataka.
3. Perusing study till marring

4. process where knowledge is primary

Options :



68634082401. 1
68634082402. 2
68634082403. 3
68634082404. 4

Question Number : 2 Question Id : 68634020859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which as/ are not the synonyms of affinity

A. Harmony
B. Rapport
C. sympathy

D. Aversion

1. B Only

| )

.B and D Only

.CandD

[¥%)

4. D Only

Options :

68634082405. 1
68634082406. 2
68634082407. 3
68634082408. 4

Question Number : 3 Question Id : 68634020860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The number of months required to exgertise 1 all vedas for a student 15 :
1.576

27732

144

L¥¥]

4. 288

Options :

68634082409. 1
68634082410. 2
68634082411. 3
68634082412. 4

Question Number : 4 Question Id : 68634020861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which was not a part of Vedic education as per the list given?

1. Renuneciation

(]

. Comumerce and trade
3. Recreational archives

4. Yogasadhana

Options :

68634082413. 1
68634082414. 2
68634082415. 3
68634082416. 4

Question Number : 5 Question Id : 68634020862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al‘ﬂllﬂll}fﬂkﬂ means .

1. Rishikas

[

. Brahmanas
3. The phase Depicting transition from spirit of Brahmanas to the spirit of the Upanishads

4. An old man going to the forests

Options :

68634082417. 1
68634082418. 2
68634082419. 3
68634082420. 4

Sub-Section Number : 2
Sub-Section Id : 686340684
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634020863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions given form the following options :

Lord Buddha realised the need .................... educating devotees................ a massive scale. Budhhist education
started 2,600 years ago. It was collective ................. the sence that it was not based............. cast gystem

1. Of. on. from. with

[

. with. on. in. of
3. of. on. 1. on

4. of. in for, on

Options :

68634082421. 1
68634082422. 2
68634082423. 3
68634082424. 4

Question Number : 6 Question Id : 68634020863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions given form the following options :

Lord Buddha realised the need .................... educating devotees................ a massive scale. Budhhist education
started 2,600 years ago. It was collective ................. the sence that it was not based........... cast system

1. Of. on. from. with

(]

. with. on. . of
3. of on. m. on

4. of. in for, on

Options :

68634082421. 1
68634082422. 2
68634082423. 3
68634082424. 4

Question Number : 7 Question Id : 68634020864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Replace the underlined expression with on 1diom.
My uncle is very short tempered. So Whenever he visits us all of us at home are being extra careful.

1. At sea

| ]

. Dribs and drabs
3. Walking on egg shells

4, Walking the plan

Options :

68634082425. 1
68634082426. 2
68634082427. 3
68634082428. 4

Question Number : 7 Question Id : 68634020864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Replace the underlined expression with on idiom.
My uncle is very short tempered. So Whenever he visits us all of us at home are being extra careful.

1. At sea

[ ]

. Dribs and drabs
3. Walking on egg shells

4. Walking the plan

Options :

68634082425. 1
68634082426. 2
68634082427. 3
68634082428. 4

Question Number : 8 Question Id : 68634020865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the sentence with the correct subject verb agreement

1. Annotated Readings 1s necessary for on mnsight ful understanding for the text and helps students better internalize
the material.

[

. Annotated Readings are necessary for an msightful understanding of the text and help students better
internalize the material.

3. Annotated Readings are necessary for an insightful understanding of the text and helps students better
internalize the material.

4. Annotated Readings in necessary for an insightful understanding of the text and help students
betters internalize the material

Options :

68634082429. 1
68634082430. 2
68634082431. 3
68634082432. 4

Question Number : 8 Question Id : 68634020865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the sentence with the correct subject verb agreement

1. Amnotated Readings 1s necessary for on nsight ful Understanding for the text and helps students better internalize
the material.

[

. Annotated Readings are necessary for an insightful understanding of the text and help students better
internalize the material.

3. Annotated Readings are necessary for an insightful understanding of the text and helps students better
Internalize the material.

4. Annotated Readings i necessary for an insightful understanding of the text and help students
betters Internalize the material

Options :

68634082429. 1
68634082430. 2
68634082431. 3
68634082432. 4

Question Number : 9 Question Id : 68634020866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The prominently visible parts on the front size of an object as : .............

1. Starling

(]

. simplex
3. salience

4, Rosaline

Options :

68634082433. 1
68634082434. 2
68634082435. 3
68634082436. 4

Question Number : 9 Question Id : 68634020866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The prominently visible parts on the front size of an object as : ..............

1. Starling

(]

. simplex
3. salience

4, Rosaline

Options :

68634082433. 1
68634082434. 2
68634082435. 3
68634082436. 4

Question Number : 10 Question Id : 68634020867 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the Coreect spelling of the word from the options given below:

1. Reverberation

[ ]

. Riverberation
3. Revirberation

4. Revarberation

Options :

68634082437. 1
68634082438. 2
68634082439. 3



68634082440. 4

Question Number : 10 Question Id : 68634020867 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the Coreect spelling of the word from the options given below:

1. Reverberation

| )

. Riverberation
3. Revirberation

4, Revarberation

Options :

68634082437. 1
68634082438. 2
68634082439. 3
68634082440. 4

Question Number : 11 Question Id : 68634020868 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The next member of the given series is :

8,18, 23,50, 72, e

1.120

| ]

.90
A 5

4. 98

Options :

68634082441. 1
68634082442. 2
68634082443. 3
68634082444. 4

Question Number : 11 Question Id : 68634020868 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The next member of the given series 1s :

8,18,23,50,72, i

1.120

| ]

.90
3.2

4. 08

Options :

68634082441. 1
68634082442. 2
68634082443. 3
68634082444. 4

Question Number : 12 Question Id : 68634020869 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A faulty minute hand covers only 90% of the circle per hour. If it starts from eight in how many nunutes it will
reach the seven mark at the given speed :

1. 53
2.58

.61

L¥¥]

4. 64

Options :

68634082445. 1
68634082446. 2
68634082447. 3
68634082448. 4

Question Number : 12 Question Id : 68634020869 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A faulty minute hand covers only 90% of the cirele per hour. If it starts from eight in how many minutes it will
reach the seven mark at the given speed ;

1. 53

[

.58

.61

LF¥)

4. 64



Options :

68634082445. 1
68634082446. 2
68634082447. 3
68634082448. 4

Question Number : 13 Question Id : 68634020870 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The age of father in 1980 was twice that of his son's present age. If the present age of son 1s X year and age of
tather 1s 79 years than value of X 15 :

1. 15 Year
2.17 Year

.23 Year

L¥¥]

4. 18 Year

Options :

68634082449. 1
68634082450. 2
68634082451. 3
68634082452. 4

Question Number : 13 Question Id : 68634020870 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The age of father in 1980 was twice that of his son's present age. If the present age of son i1s X year and age of
tather 15 79 years than value of X is :

1. 15 Year
2.17 Year

.23 Year

LF¥]

4. 18 Year

Options :

68634082449. 1
68634082450. 2
68634082451. 3
68634082452. 4

Question Number : 14 Question Id : 68634020871 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The product of 25% of x and 120% of y = ....c.cecceevveeeee. Yo of (1)
1.30

225

4. 60

Options :

68634082453. 1
68634082454. 2
68634082455. 3
68634082456. 4

Question Number : 14 Question Id : 68634020871 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The product of 25% of x and 120% of y = ....c.ccccceveeeee. Yo of (1)
1.30

2.25

4. 60

Options :

68634082453. 1
68634082454. 2
68634082455. 3
68634082456. 4

Question Number : 15 Question Id : 68634020872 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average speed of a tramn m four hours. running at 36 kim'h in first hour. 72 km per hour m second hour and
108 km/h in the last two hours in (m/s) 15 :

1. 15

_L_.l
e
¥

L]
e
n
(]

Options :
68634082457. 1
68634082458. 2



68634082459. 3
68634082460. 4

Question Number : 15 Question Id : 68634020872 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average speed of a tramn m four hours. running at 36 kim'h in first hour. 72 km per hour m second hour and
108 km/h in the last two hours in (m/s) 15 :

1. 15

_L_.l
e
¥

L¥¥]
e
L
b

4. 30

Options :

68634082457. 1
68634082458. 2
68634082459. 3
68634082460. 4

Question Number : 16 Question Id : 68634020873 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given series : 85, 43, 44, 67.5, 137. 345 observe the series given and by establishing the same relation in 125,
(A). (B). (C). (D). (E). Find what will come is place of (C) ?

1. 86

[

. 107.5

. g

L¥¥]

4.07.5

Options :

68634082461. 1
68634082462. 2
68634082463. 3
68634082464. 4

Question Number : 16 Question Id : 68634020873 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given series : 85, 43, 44, 67.5, 137. 345 observe the series given and by establishing the same relation i 125,
(A). (B). (C). (D). (E), Find what will come 1s place of (C) ?

1. 86

[

.107.5
3.112.5

4. 97.5

Options :

68634082461. 1
68634082462. 2
68634082463. 3
68634082464. 4

Question Number : 17 Question Id : 68634020874 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vartika went 90 meters in the east before turning to her right. She went 20 meters before turring to her right
agaim. She walked 30 metres further and then turring to north she walked 100 metres. How far is vartika from.
Her starting point?

1. 80 metres

| B}

. 100 metres
3. 140 metres

4, 260 metres

Options :

68634082465. 1
68634082466. 2
68634082467. 3
68634082468. 4

Question Number : 17 Question Id : 68634020874 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Vartika went 90 meters in the east before turning to her right. She went 20 meters before turring to her right
agam. She walked 30 metres further and then turring to north she walked 100 metres. How far 1s vartika from.
Her starting point?

1. 80 metres

| B

. 100 metras
3. 140 metres

4, 260 metres

Options :

68634082465. 1
68634082466. 2
68634082467. 3
68634082468. 4

Question Number : 18 Question Id : 68634020875 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indentify the water-image of the word "bridge"”

LprIIqgEe
pLIqge

p1igge
«plipge

Options :

68634082469. 1
68634082470. 2
68634082471. 3
68634082472. 4

[

%]

Question Number : 18 Question Id : 68634020875 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Indentify the water-image of the word "bridge"”

Lp1Igge
PLIgEG

p1igqgse
+PIIPgc

Options :

68634082469. 1
68634082470. 2
68634082471. 3
68634082472. 4

[

L%

Question Number : 19 Question Id : 68634020876 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There 15 a certain relation between two given words on one side of : : and one word 1s given on another side of
: : while another word 1is to be found from the given alternatives. Choose the correct pair bear.

Roster : Duty : : Inventory : 7
1. Furnace
2. Export's

. Goods

L¥¥)

4. Produce

Options :

68634082473. 1
68634082474. 2
68634082475. 3
68634082476. 4

Question Number : 19 Question Id : 68634020876 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



There 15 a certain relation between two grven words on one side of : : and one word 1s given on another side of
: : while another word 1s to be found from the given alternatives. Choose the correct pair bear.

Roster : Duty : : Inventory : 7

1. Furnace

[

. Export's
3. Goods

4. Produce

Options :

68634082473. 1
68634082474. 2
68634082475. 3
68634082476. 4

Question Number : 20 Question Id : 68634020877 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Introducing a boy. a girl said. " He 1s the son of the daughter of the father of my uncle". How is the boy related
to the girl?

1. Cousin

[

. Nephew

. Unele

LF¥]

4, Son-in-law

Options :

68634082477. 1
68634082478. 2
68634082479. 3
68634082480. 4

Question Number : 20 Question Id : 68634020877 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Introdueing a boy. a girl said. " He 1s the son of the daughter of the father of my uncle". How 1s the boy related
to the girl?

1. Cousin

[

. Nephew

. Uncle

|5

4. Son-in-law

Options :

68634082477. 1
68634082478. 2
68634082479. 3
68634082480. 4

Question Number : 21 Question Id : 68634020878 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 18 world's  first female amputee 13 climb Mount Everest?

1. Tunko Tabe:

[

. Arunima Sinha
3. Malavati Puna
4. Erika Weithehmayes

Options :

68634082481. 1
68634082482. 2
68634082483. 3
68634082484. 4

Question Number : 21 Question Id : 68634020878 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who 18 world's  first female amputee 1s climb Mount Everest?
1. Tunko Tabe:
2. Arunima Sinha
3. Malavati Puna
4. Erika Weithehmayes
Options :

68634082481. 1
68634082482. 2



68634082483. 3
68634082484. 4

Question Number : 22 Question Id : 68634020879 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Sahitya Academi Award 1s the second highest Indian Litracy Award. It 15 given mn 22 languages.

Statement IT: R.K. Narayan wat the first recipient of Sahityva Academi Award. He got it for his book Malgudi
Days.

In the hight of the above statements. choose the correct answer from the options given below
1. Both statement I and Statement IT are true
2. Bothe statement I and Statement IT are false
3. Statement I is true but statement II 1s false

4, Statement I is False but statement IT 1s true

Options :

68634082485. 1
68634082486. 2
68634082487. 3
68634082488. 4

Question Number : 22 Question Id : 68634020879 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement I: Sahitya Academi Award 1s the second highest Indian Litracy Award. It 15 given mn 22 languages.

Statement IT: R.K. Narayan wat the first recipient of Sahityva Academi Award. He got it for his book Malgudi
Days.

In the hight of the above statements. choose the correct answer from the options given below

1. Both statement I and Statement IT are true

[ ]

. Bothe statement I and Statement IT are false
3. Statement I is true but statement IT 1s false

4. Statement I is False but statement IT 1s true

Options :

68634082485. 1
68634082486. 2
68634082487. 3
68634082488. 4

Question Number : 23 Question Id : 68634020880 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Books) LIST II (Writers)
A PMudrarakshasa I. |Panim
B. |Abhigvan Shakuntalam | II. |Visakadatta
C. |Pancha Tantra I11. [Kalidasa
D. |Ashtadhvayi IV, [Vishnu Sharma

Choose the correct answer from the options given below:

1. A-I. B-II. C-I1I. D-IV

|

A-IL B-IILL C-IV, D-1
3. A-TV, B-IIIL C-II, D-I

4. A-III. B-I1. C-IV. D-II

Options :

68634082489. 1
68634082490. 2
68634082491. 3
68634082492. 4

Question Number : 23 Question Id : 68634020880 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Books) LIST II (Writers)
A PMudrarakshasa I. |Panim
B. |Abhigvan Shakuntalam | II. |Visakadatta
C. |Pancha Tantra I11. [Kalidasa
D. |Ashtadhvayi IV, [Vishnu Sharma

Choose the correct answer from the options given below:

1. A-I. B-II. C-I1I. D-IV

|

A-IL B-IILL C-IV, D-1
3. A-TV, B-IIIL C-II, D-I

4. A-III. B-I1. C-IV. D-II

Options :

68634082489. 1
68634082490. 2
68634082491. 3
68634082492. 4



Question Number : 24 Question Id : 68634020881 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : A black hole 1s remnant of a massive star which has collapsed. It 1s a Volume of space where
gravitiy 18 so strong that nothing not even light can escape fun it.

Statement IT : Its presence was first announced by galileo Galili in 1783
In the light of the above statements. choose the correct answer from the option given below

1. Both Statement I and Statement IT are true

(]

. Both Statement I and Statement IT are false
3. Statement I is false but statement 11 1s false

4. Statement [ 1s false but Statement I is true

Options :

68634082493. 1
68634082494. 2
68634082495. 3
68634082496. 4

Question Number : 24 Question Id : 68634020881 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : A black hole 1s remnant of a massive star which has collapsed. It 1s a Volume of space where
gravitiy 18 so strong that nothing not even light can escape fun it.

Statement II : Its presence was first announced by galileo Galili in 1783
In the light of the above statements. choose the correct answer from the option given below

1. Both Statement I and Statement IT are true

(]

. Both Statement I and Statement IT are false
3. Statement I is false but statement 11 1s false

4. Statement [ 1s false but Statement I 1s true

Options :

68634082493. 1
68634082494. 2
68634082495. 3
68634082496. 4



Question Number : 25 Question Id : 68634020882 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rowlatt Act (1919) was passed through the Imperal Legislative Couneil to :
1. Increase taxes and custom duties on ervilians
2. Force villages to supply solders and there was forced recruitment of common people

3. Gave Government enormous power is to repress political activates and allowed detention of anybody
suspected

4. Arrest workers who joined hands against racism

Options :

68634082497. 1
68634082498. 2
68634082499. 3
68634082500. 4

Question Number : 25 Question Id : 68634020882 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rowlatt Act (1919) was passed through the Imperial Legislative Council to :

1. Increase taxes and custom duties on civilians

[

. Force villages to supply solders and there was forced recruitment of common people

3. Gave Government enormous power is to repress political activates and allowed detention of anybody
suspected

4. Arrest workers who joined hands against racism

Options :

68634082497. 1
68634082498. 2
68634082499. 3
68634082500. 4

Part B: Theatre

Section Id : 686340414
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear Response Yes



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 686340685
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634020883 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The core Indian treatise on dramaturgy 1s :

1. Abhinayadarpanam

[ o)

. Natyashastra

L¥¥]

. Abhinayachandrika

4. Bhavaprakasha

Options :

68634082501. 1
68634082502. 2
68634082503. 3
68634082504. 4

Question Number : 26 Question Id : 68634020883 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ATea- Sl R I U1 94 $H 9132
1. Sff¥rraedo
TR
. SfaEfEET

4. HIdHDET

| ]

Lad

Options :

68634082501. 1
68634082502. 2
68634082503. 3
68634082504. 4

Question Number : 27 Question Id : 68634020884 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The epic 'Ramayana’ 1s written by :

1. Valmila

(]

. Veda Vyasa

. Sr1 Krishna

|5

o

. Dhananjaya

Options :

68634082505. 1
68634082506. 2
68634082507. 3
68634082508. 4

Question Number : 27 Question Id : 68634020884 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eI HA [had gRI IR 87
1. Tt

. deag

S

4. Y9y

| )

faa

Options :

68634082505. 1
68634082506. 2
68634082507. 3
68634082508. 4

Question Number : 28 Question Id : 68634020885 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The treatise 'Dasharupakam' 1s written by :

1. JTayapasenani

[ o)

. Balarama Varma

L¥¥]

. Dhananjaya

4, Bharata

Options :
68634082509. 1
68634082510. 2



68634082511. 3
68634082512. 4

Question Number : 28 Question Id : 68634020885 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
SOEYSY Uy g gRI Id 82
1. STATATET

. §EH g

| )

3. Yoy
4. HId

Options :

68634082509. 1
68634082510. 2
68634082511. 3
68634082512. 4

Question Number : 29 Question Id : 68634020886 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A play in Sanskrit is called :

1. Rupaka

o)

. Kathanaka

 Ttiviutta

L¥¥]

4. Natika

Options :

68634082513. 1
68634082514. 2
68634082515. 3
68634082516. 4

Question Number : 29 Question Id : 68634020886 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W d & e & F1 Fgl ol 82

1. =P

| )

. PYHP

g
4, ATEHI

Options :

68634082513. 1
68634082514. 2
68634082515. 3
68634082516. 4

Lad

Question Number : 30 Question Id : 68634020887 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The 'Yogasutra' 1s written by :

1. Panini

[

. Patanjali

L%

. Kautilya

4. Silalin

Options :

68634082517. 1
68634082518. 2
68634082519. 3
68634082520. 4

Question Number : 30 Question Id : 68634020887 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR frdas gRI I 82
1. o

3. difee™
4, Fyanferm

Options :
68634082517. 1



68634082518. 2
68634082519. 3
68634082520. 4

Question Number : 31 Question Id : 68634020888 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The 'Ashtadhyayi' on Sanskrit linguistics is written by :

1. Krisasva

[ o)

. Kalidasa

. Panini

L¥¥]

4. Agvaghosa

Options :

68634082521. 1
68634082522. 2
68634082523. 3
68634082524. 4

Question Number : 31 Question Id : 68634020888 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T d HTNIRI R *S{pTerdl fddds gR1Ifd 82
1. fehar
RG]
3. OrfurEL
4. =gy
Options :
68634082521. 1
68634082522. 2

68634082523. 3
68634082524. 4

| ]

Question Number : 32 Question Id : 68634020889 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Vikrishta 1s which type of theatre space?

1. Square

(]

. Rectangular
3. Triangular
4. Circular

Options :

68634082525. 1
68634082526. 2
68634082527. 3
68634082528. 4

Question Number : 32 Question Id : 68634020889 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dPy TTHT W 59 PR B 62
1. TSR

AIYAIRTR

AYSeR
4. JABR

Options :

68634082525. 1
68634082526. 2
68634082527. 3
68634082528. 4

[ )

T

Question Number : 33 Question Id : 68634020890 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In accordance to Natyashastra, the ten types of plays are known as :

1. Dashavatara

[

. Dasharupaka
3. Dashakanta

4, Dashaguna

Options :
68634082529. 1
68634082530. 2



68634082531. 3
68634082532. 4

Question Number : 33 Question Id : 68634020890 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR & SUR, A & &8 DRI Bl fd @ &9 H SHT Sl 62

1. a¥MddiR

| )

. qHEHD
% ;

4. qHIUT

Options :

68634082529. 1
68634082530. 2
68634082531. 3
68634082532. 4

Question Number : 34 Question Id : 68634020891 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who amongst the following has won an Oscar and a Noble prize ?

1. Mel Gibson

]

. George Barnard Shaw

%)

. Christopher Nolan

4, James Cameroon

Options :

68634082533. 1
68634082534. 2
68634082535. 3
68634082536. 4

Question Number : 34 Question Id : 68634020891 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fr=fRed 3§ 1 31 3R 3R Aldd IR fauidl g2
1. 0 [reg+
SISt §Ts 9T
AEE ST EIND!
4. SR HHERM
Options :
68634082533 1
68634082534, 2

68634082535. 3
68634082536. 4

| )

Lad

Question Number : 35 Question Id : 68634020892 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of shlokas that the Natyaszastra has 1s :
1. 5000
2. 2000

1500

L%

4. 6000

Options :

68634082537. 1
68634082538. 2
68634082539. 3
68634082540. 4

Question Number : 35 Question Id : 68634020892 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e | foeT e | wele 82

1. 5000

| ]

. 2000

1500

Lad

4. 6000

Options :
68634082537. 1
68634082538. 2



68634082539. 3
68634082540. 4

Question Number : 36 Question Id : 68634020893 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8t National film awards ?

Which movie has got the best feature film award 1n 6
1. Soorarai Pottru

2. Bahubali

I

L¥¥]

. Paansingh Tomar
4. Village Rockstars

Options :

68634082541. 1
68634082542. 2
68634082543. 3
68634082544. 4

Question Number : 36 Question Id : 68634020893 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

634 P (e YRBR YARTE H (69 [her 3 9d9y BieR (e RER U1 (531 82
1. IFRT UieeE

_Sgadit

OHRE AR

4. oo IpEere

[

L]

Options :

68634082541. 1
68634082542. 2
68634082543. 3
68634082544. 4

Question Number : 37 Question Id : 68634020894 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S.S. Rajamouli's movie RRR has won the Oscar in which category?

1. Best original song

L2

. Best Script
3. Best Direction

4, Best Actor

Options :

68634082545. 1
68634082546. 2
68634082547. 3
68634082548. 4

Question Number : 37 Question Id : 68634020894 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U, QH. eI B e - RRR (3R.3R.3R.) 7 oy vl & 3ifep i
. q49y Hifere Td
. {49y 3erd
. Ha9y fAdzm
4. a9y S

Options :

68634082545. 1
68634082546. 2
68634082547. 3
68634082548. 4

et

[ )

T

Question Number : 38 Question Id : 68634020895 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
An American psychological horror thriller film Psycho' 1s directed by:

1. John ford

(]

. Frank Capra
3. Alfred Hitcheock

4. David Lean

Options :
68634082549. 1
68634082550. 2



68634082551. 3
68634082552. 4

Question Number : 38 Question Id : 68634020895 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR OIS B fUeR e el &1 fbeH e faar um
1. S 518
s feadld
4. Sfds o

Options :

68634082549. 1
68634082550. 2
68634082551. 3
68634082552. 4

| )

L

Question Number : 39 Question Id : 68634020896 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Indian Dramaturgy Nepathyam' refers to

1. Apron Stage

o)

. Background
3. Backstage
4. Stage decoration

Options :

68634082553. 1
68634082554. 2
68634082555. 3
68634082556. 4

Question Number : 39 Question Id : 68634020896 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR ATed=Td | U ATea=nal & o0 gy fge! Tafid o g?
RusiCEv|
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3. 9® T
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[

4. Hq ol

Options :

68634082553. 1
68634082554. 2
68634082555. 3
68634082556. 4

Question Number : 40 Question Id : 68634020897 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The primary source of brightest light in a composition 1s called :

1. Key light

[

. Back light
3. Fill light
4. U.V. Light

Options :

68634082557. 1
68634082558. 2
68634082559. 3
68634082560. 4

Question Number : 40 Question Id : 68634020897 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fopt T (@miforem) & gad i SIfame uem &1 wrufiie 9id #4182
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| ]
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Options :
68634082557. 1

Lad



68634082558. 2
68634082559. 3
68634082560. 4

Question Number : 41 Question Id : 68634020898 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Ball room dancing came to India through :

1. Americans

[ o)

. The British

L¥¥]

. Portuguese

4, French

Options :

68634082561. 1
68634082562. 2
68634082563. 3
68634082564. 4

Question Number : 41 Question Id : 68634020898 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRA | “glc &8 ST &1 fgdh Aregd I SHTH- g3
1. 3HRDT
fsfem

R HIK
4. Wil

Options :

68634082561. 1
68634082562. 2
68634082563. 3
68634082564. 4

[ )

LN

Question Number : 42 Question Id : 68634020899 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who played the protagonist in the movie 'Gladiator'?

1. Vin Diesel

(]

. Tom Cruise

(5]

. Johnny Depp

4. Russell Crowe

Options :

68634082565. 1
68634082566. 2
68634082567. 3
68634082568. 4

Question Number : 42 Question Id : 68634020899 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ferg TifSueR: o o ey e [Furg ot
1. fa Shoia
e @l
3.9l 29
4. TEA DT

Options :

68634082565. 1
68634082566. 2
68634082567. 3
68634082568. 4

[ )

Question Number : 43 Question Id : 68634020900 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the name of the protagonist in the movie Pirates of the Caribbean'

1. Devy Jones

[

. Hector Barbossa
3. Captam Jack Sparrow

4, Will Tunner

Options :
68634082569. 1
68634082570. 2



68634082571. 3
68634082572. 4

Question Number : 43 Question Id : 68634020900 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UIEeH 3% g PRIgT e T e 31 i UM ard &1 =19 Fdigy?
1. 54l &g
 BdeR IRENT
4. faaeR

Options :

68634082569. 1
68634082570. 2
68634082571. 3
68634082572. 4

| )

L

Question Number : 44 Question Id : 68634020901 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MWIGR Film and Television Institute' 1s located at ;

1. Hyderabad

o)

. Kolkata

L¥¥]

. Bangalore

4. Chennai

Options :

68634082573. 1
68634082574. 2
68634082575. 3
68634082576. 4

Question Number : 44 Question Id : 68634020901 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T S 3R, fiher Ud efafaey T wef sefua &2
1. BexIElg
CAREIG]

3. e
4, oTg

Options :

68634082573. 1
68634082574. 2
68634082575. 3
68634082576. 4

| )

Question Number : 45 Question Id : 68634020902 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satyajit Ray Film and Television Institute (SRFTI) 1s located at :

1. Chennai

| ]

. Kollata
3. Mumbai

4, Pune

Options :

68634082577. 1
68634082578. 2
68634082579. 3
68634082580. 4

Question Number : 45 Question Id : 68634020902 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Teitd ¥ fihe U4 ferfag I (T, 3R U% 31 301s.) Fal Hafeud g2
1915
EANEAG)
3.9
4.q0

Options :
68634082577. 1

| )



68634082578. 2
68634082579. 3
68634082580. 4

Question Number : 46 Question Id : 68634020903 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indian Film actor Trrfan Khan' acted in which of the following movies?

1. Avatar

[ o)

. Gladiator

. Jurassic World

L¥¥]

4, God Father

Options :

68634082581. 1
68634082582. 2
68634082583. 3
68634082584. 4

Question Number : 46 Question Id : 68634020903 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HRA e St e @ A e § 9 fod her & sfig foar ur
1. HddX
TISTER
SRR T

4. 718 HIeX

[ )

LN

Options :

68634082581. 1
68634082582. 2
68634082583. 3
68634082584. 4

Question Number : 47 Question Id : 68634020904 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The theatre traming nstitute 'RADA' stands for :

1. Regional Academy of Dramatic Art

(]

. Royal Academy of Dramatic Art
3. Rastriya Academy of Dramatic Art

4. Rational Academy of Dramatic Art

Options :

68634082585. 1
68634082586. 2
68634082587. 3
68634082588. 4

Question Number : 47 Question Id : 68634020904 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[T YIRE0) SR < HR.USIL (RADA) &1 URT T8 &1 52
1. {oe U st 3w giics ame
2. a9 s Hl & gHfed ard
3. 15T U sl S ghifes e

4. 34 U St B grafes e

Options :

68634082585. 1
68634082586. 2
68634082587. 3
68634082588. 4

Question Number : 48 Question Id : 68634020905 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The treatise Nrittaratnavali’ 1s written by :

1. Bharata

(]

. Abhinavagupta

(5]

. Jayapasenani

4. P.5. Appa Rao

Options :
68634082589. 1
68634082590. 2



68634082591. 3
68634082592. 4

Question Number : 48 Question Id : 68634020905 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
JARAAEr Uy & [ B 52
1. 1T
AT
3. ST

4. 91 T, 37 Ia

| )

Options :

68634082589. 1
68634082590. 2
68634082591. 3
68634082592. 4

Question Number : 49 Question Id : 68634020906 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Weedhi Natakam' is the folk art form of which state?
1. Andhra Pradesh
2. Tamilnadu

. Kerala

L%

4. Karnataka

Options :

68634082593. 1
68634082594. 2
68634082595. 3
68634082596. 4

Question Number : 49 Question Id : 68634020906 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dteft e fg T FT AP Hal =4 32
1. {1 U

5 §
3. 9d
4. TACEH

Options :

68634082593. 1
68634082594. 2
68634082595. 3
68634082596. 4

a

Question Number : 50 Question Id : 68634020907 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The treatise 'Abhinava Bharti' 1s written by:
1. Nandikeswara

2. Jayapasenani

L%

. Jayadeva

4. Abhinavagupta

Options :

68634082597. 1
68634082598. 2
68634082599. 3
68634082600. 4

Question Number : 50 Question Id : 68634020907 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
<3HFT YR 94 & Gal S 82
1. hRaR
ST

.oided
4, AT

Options :
68634082597. 1

| ]

Lad



68634082598. 2
68634082599. 3
68634082600. 4

Question Number : 51 Question Id : 68634020908 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Bhavat' is a folk theatre form from the state of:

1. Karnataka

[ o)

. Gujarat

L¥¥]

. Rajasthan

4, Maharashtra

Options :

68634082601. 1
68634082602. 2
68634082603. 3
68634082604 4

Question Number : 51 Question Id : 68634020908 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g e Iy &1 U dids Y Y 22
1. FAlCH

3 ﬂ

RTSTRYTA

4. HERTY

Options :

68634082601. 1
68634082602. 2
68634082603. 3
68634082604. 4

| ]

[ ]

Question Number : 52 Question Id : 68634020909 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The male actors playing female roles in Bhavai are called :

1. Daaglo

(]

. Viveka
3. Kachaliya
4. Chatka

Options :

68634082605. 1
68634082606. 2
68634082607. 3
68634082608. 4

Question Number : 52 Question Id : 68634020909 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YaTg H Sl YT FyHare gy s 1 & $ed o2
1. ST
fdd®
3. rFfer
4. FChH!

Options :

68634082605. 1
68634082606. 2
68634082607. 3
68634082608. 4

[

Question Number : 53 Question Id : 68634020910 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which type of mnstruments are 'Avanaddha’ vadya?

1. Ideophones

o)

. Percussion
3. Wind
4. String
Options :

68634082609. 1
68634082610. 2



68634082611. 3
68634082612. 4

Question Number : 53 Question Id : 68634020910 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'\3fG% arel [ TR &1 are 44 82

SIS 3B

YT a1

g arg

4. diX dIs]

[—y

[

L]

Options :

68634082609. 1
68634082610. 2
68634082611. 3
68634082612. 4

Question Number : 54 Question Id : 68634020911 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The prestigious Performing Arts school "Central School of Speech and Drama" is located at :

1. New York

[

. Berlin
3. Paris

4, London

Options :

68634082613. 1
68634082614. 2
68634082615. 3
68634082616. 4

Question Number : 54 Question Id : 68634020911 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. ald
afel
3.0

| )

4. daA

Options :

68634082613. 1
68634082614. 2
68634082615. 3
68634082616. 4

Question Number : 55 Question Id : 68634020912 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'"Ramoji Film City' 1s located at :

1. Chennai

[

. Hyderabad

L¥¥]

. Bangalore

4, Delhi

Options :

68634082617. 1
68634082618. 2
68634082619. 3
68634082620. 4

Question Number : 55 Question Id : 68634020912 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

]

4. faerdt

Options :
68634082617. 1



68634082618. 2
68634082619. 3
68634082620. 4

Question Number : 56 Question Id : 68634020913 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The famous actor "Nasseruddin Shah" 15 an alumni of which institution?

1.NSD

[ o)

.RADA

. SRFTI

L¥¥]

4. NYFA

Options :

68634082621. 1
68634082622. 2
68634082623. 3
68634082624. 4

Question Number : 56 Question Id : 68634020913 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR ST Tee H 26 f6d TRH & U J4-3 ©7
RC RS

fa—

-2

 HRUSIE.

Lad

e
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Options :

68634082621. 1
68634082622. 2
68634082623. 3
68634082624. 4

Question Number : 57 Question Id : 68634020914 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who 18 the founding Director of the theatre mstitution 'Sopanam'?

1. B.V. Karanth

(]

. KN. Panikker
3.D.R. Ankur

4. Bhanu Bharti

Options :

68634082625. 1
68634082626. 2
68634082627. 3
68634082628. 4

Question Number : 57 Question Id : 68634020914 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Teg TR TOHEY & $1F SRS HeRe §2

1. 9.3 PRY

. .0, gforgehy

B3R, 3P
4. YT YRl

Options :

68634082625. 1

68634082626. 2

68634082627. 3
68634082628. 4

[ )

T

Question Number : 58 Question Id : 68634020915 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The play 'Uttar Ramacharita' 1s written by:

1. Kalidas

[

. Asvaghosa
3. Bhavabhuti

4, Patanjali

Options :
68634082629. 1
68634082630. 2



68634082631. 3
68634082632. 4

Question Number : 58 Question Id : 68634020915 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FR AR & Al B 82
1. PIfCe
SR

CHayfd
4. gasirer

Options :

68634082629. 1
68634082630. 2
68634082631. 3
68634082632. 4

)

L

Question Number : 59 Question Id : 68634020916 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following is considered to be one of the greatest playwrights of realistic plays?

1. Ben Johnson

[

. Harold Pinter

. Bertolt Brecht

L¥¥]

4. Anton Chekhov

Options :

68634082633. 1
68634082634. 2
68634082635. 3
68634082636. 4

Question Number : 59 Question Id : 68634020916 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ffetad 5 9 5 gurdare! Aresl & 98Had AeheRi 8 U U6 JH1 &1l 82
1. & SIS
2 %}{-;Q’E iéaq
3. §died s
4. U <Eq
Options :
68634082633. 1
68634082634. 2

68634082635. 3
68634082636. 4

| )

Question Number : 60 Question Id : 68634020917 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A neutrally panted frame of three arches or openings i which a variety of decorative or practical pieces of
scenery can be placed is called:

1. Unit set

[

. Skeleton Set

. Permanent Set

L¥¥]

4. Set-in

Options :

68634082637. 1
68634082638. 2
68634082639. 3
68634082640. 4

Question Number : 60 Question Id : 68634020917 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d1F Tgv1e a1 dew =9 3 REd e, 5 qeaey & fafdy UeR & welac! a1 HagiNg 3% 3 971d &,
I 1 Bl Al 87
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Options :

68634082637. 1
68634082638. 2
68634082639. 3
68634082640. 4

Question Number : 61 Question Id : 68634020918 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An object or material, which is carried and handled by a character on the stage 1s called:

1. Stage property

o)

. Hand Property

L¥¥]

. Makeup

4. Orchestra

Options :

68634082641. 1
68634082642. 2
68634082643. 3
68634082644. 4

Question Number : 61 Question Id : 68634020918 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

9 IR U U, o awg an Skt &1 9y H GeR 399 SUanT SRl €. 39 391 SEl Wl 82
1. 5T a5

B a¥]

3. HP-30

4. 3T
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| ]

Options :

68634082641. 1
68634082642. 2
68634082643. 3
68634082644. 4

Question Number : 62 Question Id : 68634020919 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 18 the nature of the surface of any shape or form
1. Colour
2. Limne
3. Texture

4. Shape

Options :

68634082645. 1
68634082646. 2
68634082647. 3
68634082648. 4

Question Number : 62 Question Id : 68634020919 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fr=faRad 9 1 3 6l areid a1 U &1 9dg &1 @WEu g
1. auf

-

2.3l
3. 7184 (CoHTER)
4. SAIPId

Options :

68634082645. 1
68634082646. 2
68634082647. 3
68634082648. 4

Question Number : 63 Question Id : 68634020920 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It 18 a type of cyclorama which 1s hung on a curved track and rolled when not needed on a cone at one side of
the stage :

1. Linmebach Cyeclorama

2. C-Cyclorama

[¥¥]

. Trip Cyclorama

4. Cyclorama Arms

Options :
68634082649. 1



68634082650. 2
68634082651. 3
68634082652. 4

Question Number : 63 Question Id : 68634020920 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FAEfRET & ¥ S e (SRR . foi aftrd Tedt W il 9l @ SR S1eRg@dr 7 51 1R
9 19 & TP 3R HgA1 que] ol g2

1. o TISaam
il — g garm
AEESIEE NI

4, TTSTFARTHT e

Options :

68634082649. 1
68634082650. 2
68634082651. 3
68634082652. 4

| ]

Lad

Question Number : 64 Question Id : 68634020921 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In 1888, who founded the society of Art and Literature?

1. Bertolt Brecht

[

. Stanislavsky

. Barnard Shaw

LF¥)

4. Eugene [onesco

Options :

68634082653. 1
68634082654. 2
68634082655. 3
68634082656. 4

Question Number : 64 Question Id : 68634020921 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ffetad § 9 feae 1888 § Tl 3w 3412 TS foevay o wrgan &t off ¢
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Lad

Options :

68634082653. 1
68634082654. 2
68634082655. 3
68634082656. 4

Question Number : 65 Question Id : 68634020922 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The play Mricchakatika' is written by :

1. Bana

[

. Bhavabhuti

. Kalidasa

LF¥)

4, Sudraka

Options :

68634082657. 1
68634082658. 2
68634082659. 3
68634082660. 4

Question Number : 65 Question Id : 68634020922 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty@ied Aled & [l B o7
1. 9101

CHaYfd

IR

4

Options :
68634082657. 1

-

L V]



68634082658. 2
68634082659. 3
68634082660. 4

Question Number : 66 Question Id : 68634020923 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and other 1s labelled az Reason R
Assertion A: The idea of 'space’ 15 an inevitable factor for the theatre.

Reason R: The Grammar for the Theatre defines the procedure and purpose of Art.

In the hight of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R 1s the correct explanation of A

[ ]

. Both A and R are true and R 1s NOT the correct explanation of A
3. A 1s true but R 1s false

4. A 1s false but R 1s true

Options :

68634082661. 1
68634082662. 2
68634082663. 3
68634082664. 4

Question Number : 66 Question Id : 68634020923 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634082661. 1
68634082662. 2
68634082663. 3
68634082664. 4



Question Number : 67 Question Id : 68634020924 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and other is labelled as Reason R
Assertion A: The ancient Sanskrit theatre art form, Koodiyattam reflects the grammar of Indian knowledge
systemni.

Reason R: As an ancient Sanskrit theatre art form. Koodiyattam was popular at all levels of the society.

In the light of the above statements. choose the eorrect answer from the options given below

1. Both A and R are true and R is the correct explanation of A

[

. Both A and R are true and R 18 NOT the correct explanation of q
3. A is true but R 1s false

4, A 1s false but R 1s true

Options :

68634082665. 1
68634082666. 2
68634082667. 3
68634082668. 4

Question Number : 67 Question Id : 68634020924 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 &1 Py AU T §: TP AUBYT (Assertion A) P &0 T [AREd € O §HI IS PRUI (Reason R) B

LR
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Options :

68634082665. 1
68634082666. 2
68634082667. 3
68634082668. 4

Question Number : 68 Question Id : 68634020925 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and other is labelled as Reason R
Assertion A: The World of performance and the World as Performance.

Reason R: The nature of theatre involves-History,Cultures. All societies and for all lives.

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R are true and R 1s NOT the correct explanation of A
3. A is true but R 1s false

4. A 1s false but R 1s true

Options :

68634082669. 1
68634082670. 2
68634082671. 3
68634082672. 4

Question Number : 68 Question Id : 68634020925 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 &1 Y AU U §: U AUBUT (Assertion A) P &0 T [AREd 8 O §H IS PRUI (Reason R) P
%9 4

HIFYA A - TR ST 3R W[ & =9 T ST |

PRUIR : T & WY 4 gfagr. Gwioal, Tl 9ara 3R 94t st aieid §)

SWRITd Y & 3fclis H, i f4u 70 faeedi & 4 Tl SR &1 994 Hifuig:

AMRRIAIIIE IR R, AP TE TS &
CARRIAT IO E AP R, AT TEI SO TRl §

ATIEAPIR 3TA S

[a—y

| ]

Lad

4. AT APIR TR

Options :

68634082669. 1
68634082670. 2
68634082671. 3
68634082672. 4

Question Number : 69 Question Id : 68634020926 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and other is labelled as Reason R
Assertion A: Language 1s an inevitable entity to communicate through performing Arts.

Reason R: Facial Expressions/Body Language. can't communicate in performing Arts

In the light of the above statements. choose the eorrect answer from the options given below

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R are true and R 1s NOT the correct explanation of A
3. A is true but R 1s false

4. A 1s false but R 1s true

Options :

68634082673. 1
68634082674. 2
68634082675. 3
68634082676. 4

Question Number : 69 Question Id : 68634020926 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 &1 Y AU U §: U AUBUT (Assertion A) P &0 T [AREd 8 O §H IS PRUI (Reason R) P
%9 4

HFHUT A - U T SUREH S9Ts & &9 1 Ufd Fans & o § Siid S o

SRU R : & 91 ARG YT & A1eqd I Ugfal Ha & Swivor 94d 78 g

SWRITd Y & 3fclis H, A f3u 70 faeredi & 4 Hel SR &1 98- Hifuig:

AMRRIAIIIE IR R, AP TE TS &
CARRIAT IO E AP R, AT TEI SO TRl §
ATIEAPIR 3T

4. AT APIR TR

[a—y

| ]

Lad

Options :

68634082673. 1
68634082674. 2
68634082675. 3
68634082676. 4

Question Number : 70 Question Id : 68634020927 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and other is labelled as Reason R
Assertion A: Naturalism and Absurdism m theatre can be the reflection of human kind. through the Modem
era.

Reason R: The Symbolism and its explorations can be seen in Post Modernism era of theatre

In the light of the above statements. choose the eorrect answer from the options given below

1. Both A and R are true and R is the correct explanation of A

[

. Both A and R are true and R 18 NOT the correct explanation of A
3. A is true but R 1s false

4, A 1s false but R 1s true

Options :

68634082677. 1
68634082678. 2
68634082679. 3
68634082680. 4

Question Number : 70 Question Id : 68634020927 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A9 & U [T T §: Us AU (Assertion A) & =9 H [GRId 8 dl G¥RT 3HP PBRUI (Reason R) B
oq 4

By A« sye g B SE O Ugdarg R [dgrfaarg aHa oifd o1 uidfar 8 9ed €|
HRUIR : Yl [dIa HR SHBT S0 T & SaR-HATYHdal g7 H od o §hdl 3 |

JRIGT HYF & AP H, A (S0 U [ded] H I Tal 3R &1 999 HIaIg:

AMRRIFAITE IR R AT HE T ©
 ARRIATITE, OB R, AT TEI AT T8l §

[a—y

| ]

3 AR UfFTR TR

4. AT T APAR TS

Options :

68634082677. 1
68634082678. 2
68634082679. 3
68634082680. 4

Question Number : 71 Question Id : 68634020928 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and other is labelled as Reason R
Assertion A: Acting 1s a process of action and reaction.

Reason R: Experience of thoughts improve the acting skills.

In the hght of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R 1s the correct explanation of A

[

. Both A and R are true and R 18 NOT the correct explanation of A

. A 1s true but R 1s false

[¥¥]

4. A 1s false but R 15 true

Options :

68634082681. 1
68634082682. 2
68634082683. 3
68634082684. 4

Question Number : 71 Question Id : 68634020928 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

< &1 Y fU U §: U ATUBYT (Assertion A) P U T [AREd § A1 §HI IHP PRUI (Reason R) B
S H;

HBYA A« i Ue foba Sik widfhar &1 uican

BRI R : [G=RI BT i 4a A9 S¥a d FER aar g

IWRIGd HYA & ATdD H, A 12U 0 fdded! § I Tet 3R &1 999 HIfelg:

1.ARREIATUE IR R, A D TgI TR &
A JRRIATAE AGTR, A DI TS IS T8 ©

| )

ATTe. AR 3EAT T

T

4 AU E. APAR TR

Options :

68634082681. 1
68634082682. 2
68634082683. 3
68634082684. 4

Question Number : 72 Question Id : 68634020929 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and other is labelled as Reason R
Assertion A: The 1dea of Rasa in Natyasastra, as per Bharata 1s 8. (Ashta Rasa)

Reason R: The idea of Rasa. 1.e. Navarasa evolved with the addition of Shanta Rasa

In the light of the above statements. choose the eorrect answer from the options given below

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R are true and R 1s NOT the correct explanation of A
3. A is true but R 1s false

4. A 1s false but R 1s true

Options :

68634082685. 1
68634082686. 2
68634082687. 3
68634082688. 4

Question Number : 72 Question Id : 68634020929 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 &1 Y AU T §: U AUBUT (Assertion A) P &0 T [ARET 8 01 §H 39S PRUI (Reason R) P
Lok

HHHYUT A+ HRA P SHTIR AT H 8 T (3F ) P TR B

PRUIR : T DI fGaR, S8 o Fa39 o1 IgIdP ™ Wid 79 DI S5 & W g3l

SWRITd DU & 3fclis H, A f4U 70 faeredi & 4 Tl SR &1 98- Hifuig:

AMRRIAIIIE IR R, AP TE TS &
CARRIAT IO E AP R, AT TEI SO TRl §

[a—y

| ]

AT S AfBTR ITT B

Lad

4 AT APARTT S

Options :

68634082685. 1
68634082686. 2
68634082687. 3
68634082688. 4

Question Number : 73 Question Id : 68634020930 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the followmg traditional theatre forms m correct sequential order, according to their geographical
locations from South to North :

A. Yakshagana
B. Bhavai

C. Kutiyattam
D. Tamasha

E. Nautank

Choose the correct answer from the options given below:
1.LA.C.D,B.E
2.C,A,B.D,E
3.D,E,B,A,C

4.C,A.D.B.E

Options :

68634082689. 1
68634082690. 2
68634082691. 3
68634082692. 4

Question Number : 73 Question Id : 68634020930 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRERS JHE & AT TR0l Bl &0 8 IR B AR 3961 Hriae @il & 38R
AR PISG:

A T&TTH
B. a5

C. pigarga
D. THTEI

E. dled!

i feU U fgeedl © T 981 IR &1 99 BT

1LA.C.D.B.E

[ )

A B, DB
3:D, BB AT

4.C,A.D.B.E

Options :

68634082689. 1
68634082690. 2
68634082691. 3
68634082692. 4



Question Number : 74 Question Id : 68634020931 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the correct chronological sequence of Shakespearean plays from the following:

A, Othello

B. Romeo and Juliet
C. King Lear

D. Hamlet

E. Macbeth

Choose the correct answer from the options given below:

LCABDE

[ )

.E, C,A;B,; D
3.B,A,D.E,C

4.B.D.A.C.E

Options :

68634082693. 1
68634082694. 2
68634082695. 3
68634082696. 4

Question Number : 74 Question Id : 68634020931 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YOI & FHEfeafad Aredl & Hel ora 3P @1 = Sifo:

A, 3{Yar

B. Xl TS Hfere
C. [ ferer

D. gHdc

E. HPhay

i feu U fasedl § § 98l IR & 994 Hifoe:

1.C.A.B.D.E

2.E.C,A.B.D
3.B.A.D.E,C

4 B.D.A.C.E

Options :
68634082693. 1
68634082694. 2



68634082695. 3
68634082696. 4

Question Number : 75 Question Id : 68634020932 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct chronological sequence of the following playwrights:

A. Bhavabhuti

B. Kalidas

C. Mohan Rakesh
D. Bhasa

E. Jaishankar Prasad

Choose the correct answer from the options given below:

1. ADB.CE

[ )

.D.A.B.E. C
3D B.AEC

4.B.D.A.E.C

Options :

68634082697. 1
68634082698. 2
68634082699. 3
68634082700. 4

Question Number : 75 Question Id : 68634020932 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty

AT AlepeRI & HIeahlie 3-IHT o 9g4 HIfST:

A. HaHfd

B. BIicia]

C. HIg" A
D. 4T

E. SUR®HR UG

i feu U fdsedl & § 98l IR & 994 Hifow:

1.LA.D.B.C.E

| ]

XA By B E

3D, BAEC

4. B.D.AE.C



Options :

68634082697. 1
68634082698. 2
68634082699. 3
68634082700. 4

Question Number : 76 Question Id : 68634020933 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identity the correct sequence of different parts of the proscenium stage from the point of view of audience -
closest to farthest :

A Down Stage
B. Cyclorama
C. Centre Stage
D. Up Stage

E. Apron Stage

Choose the correct answer from the options given below:

1. ALE.C.B,D,

| B

.E,A,C,D,B
3.B.D.C.AE

4.C,D.A.E.B

Options :

68634082701. 1
68634082702. 2
68634082703. 3
68634082704. 4

Question Number : 76 Question Id : 68634020933 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Z=®] & TBDIU I T 77 AT 87 F Fdedd I R a WRIHTT B & G- YTl & To! 3HH
P IHM DI

A. B3 &
B. HSaaRMEl
C. '
D. JT TS
E. U0H &9
i fau e fomegl & 4 98! 3R &1 994 S

1.LAE,C, B, D,

| ]

.ELA.C.D.B
3.B.D,C.AE

4. C.D.AE.B

Options :

68634082701. 1
68634082702. 2
68634082703. 3
68634082704. 4

Question Number : 77 Question Id : 68634020934 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence of the characters m the play Macbeth' in context of their state appearance :

A. Witches

B. Macbeth

C. Duncan

D. Lady Macbeth

Choose the correct answer from the options given below:
1.C.D.AE
2.A.B.C.D

.D.C,B,A

L¥¥]

4 A C.D.B

Options :

68634082705. 1
68634082706. 2
68634082707. 3
68634082708. 4



Question Number : 77 Question Id : 68634020934 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

L

Ay A1ed 1 UEl & gdid E1F &1 9el 3HH J1d ST

ICEEIGIEE)
B. Hhdy

C. 5P

D. dol HhdY

i feu U fdsedl & § 98l IR & 994 Hifow:

1.C.D.AB

| ]

AGHIESD
31D,CBA

4. A.C,D.B

Options :

68634082705. 1
68634082706. 2
68634082707. 3
68634082708. 4

Question Number : 78 Question Id : 68634020935 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the followmng folk theatre forms in the correct sequential order according to their geographical
locations from West to East :

A, Raslila

B. Bharud

C. Ankia Nat
D. Jatra

E. Khayal

Choose the correct answer from the options given below:
1.E,B,D,CA
2.B,;E.AD.C
3.B.E.C.D.A

4 C.D.E.B.A

Options :

68634082709. 1
68634082710. 2
68634082711. 3



68634082712. 4

Question Number : 78 Question Id : 68634020935 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HEAfET die A1ed W=ul &1 9igd 3 qd 0% &1 SR 3@ Ui safufa & suR 994 S

A, Il
B. %S

. fparAre
D. §=T

E. 31d

i fau U fasedi | ¥ el IR & 904 Hifow:

1LE.B.D.C.A

| ]

B.E.AD.C
3B, E,C.DA

4. C.D.E.B.A

Options :

68634082709. 1
68634082710. 2
68634082711. 3
68634082712. 4

Question Number : 79 Question Id : 68634020936 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct chronological sequence of the followmg films in context of their year of release :

A. Kanchana Seeta

B. RRR

C. Raja Harishchandra
D. The Life of Pie

E. Alam -Ara

Choose the correct answer from the options given below:

1.EACD.B

| B

.C.E.A.D.B
JJACEB.D

4 CAED.B

Options :
68634082713. 1



68634082714. 2
68634082715. 3
68634082716. 4

Question Number : 79 Question Id : 68634020936 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFEITeTEd el 1 3-1e Haxi-ay & g # Wgl Bel-3HH BT 90 BT

A, &g Oiar
B.RRR

C. ol gigds

D. T @3 3 UTs
E. 3TeH-3RT

Ty

i [4U U [d@edl | U Uel 3R &l 994 ifow:

1.LEEAC.D,B

)

.C,E,A.D,B
3.AC.E.B.D

4. C.,A.E.D.B

Options :

68634082713. 1
68634082714. 2
68634082715. 3
68634082716. 4

Question Number : 80 Question Id : 68634020937 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Kalakshetra foundation, Chennai and Shanti Niketan. Kolkata were founded by Rabindranath
Tagore

Statement IT: Smt. Rulamini Devi Arundale. was a member of Indian Parliament and founder of Kalakshetra
Foundation. Chennai

In the light of the above statements. choose the correet answer from the options given below

1. Both Statement I and Statement IT are true

[

. Both Statement I and Statement II are false

. Statement I is true but Statement II 1s false

L¥¥)

4. Statement I is false but Statement IT is true

Options :
68634082717. 1



68634082718. 2
68634082719. 3
68634082720. 4

Question Number : 80 Question Id : 68634020937 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A pyafeumr®:

FYF [ ; W5 1Y TR A HAEH BT, 915 AR WifaHeas, Srawd & = &1 o |

HY 11 : S BGa Sat SR d YRA™ 995 &1 Ue Yo of 3R =1 Fa1 87 Bre=yH, o1 &1
YTTH] Bl |

JRIGT HYF & AP H, A (S0 U [dwed] H I Tal 3R &1 999 Bl

1L PYF I AR IS 9 &

HYT 1 AR AT ATT &

| ]

3. PUTI I B, AP HYT 11 3T &

4. FYI IS, AP P I I ©

Options :

68634082717. 1
68634082718. 2
68634082719. 3
68634082720. 4

Question Number : 81 Question Id : 68634020938 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Aeschylus 1s considered to be the 'Father of Tragedy’

Statement II: Roman Drama is considered to have begun from the era of Livius-Andronicus
In the light of the above statements. choose the eorrect answer from the options given below

1. Both Statement I and Statement IT are true

|

. Both Statement I and Statement II are false
3. Statement I is true but Statement IT 1s false

4. Statement I is false but Statement IT is true

Options :

68634082721. 1
68634082722. 2
68634082723. 3
68634082724. 4



Question Number : 81 Question Id : 68634020938 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FrERuauE:

PYT 1 TERIZ0Y Bl IR 3B ¢HS!" (GWId | B o) A Sl €|
BUF 11 : THA AP BT YRM fafqay - TSPy & 1 Y A1 &1l 5
I HYF & 3HTciid H, A 20 MU fdhedi H U Tg1 FTR &1 944 DITIg:

1. PUTI RIS gd g
YR I ST T B

[ )

3. PYTIHA S, AP U 11 SEd &

4 PYT T L. APT PUT I TT &

Options :

68634082721. 1
68634082722. 2
68634082723. 3
68634082724. 4

Question Number : 82 Question Id : 68634020939 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The influence of Parsi Theatre on Indian Cinema starts from the movie Raja Harishchandra
Statement IT: The Cinematographer of the movie Raja Harishchandra was Dada Saheb Phalke

In the Light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

| ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT 15 false

4, Statement I is false but Statement IT is true

Options :

68634082725. 1
68634082726. 2
68634082727. 3
68634082728. 4

Question Number : 82 Question Id : 68634020939 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R FrERuauE:

U1 IR T BT YR R iR gu1d e el gREEE T 3R gaim ol
PYAII ; ol eRTHS Thed & RHUSTAThR gIal Wied Hied Y|

I HYF & 3HTciid H, A 30 MU fdhedi H U Tg1 FTR &I 944 DITIg:

1. PUTI RIS gd g
YR I ST T B

[ )

3. PYTIgd o, AT YT I ST &

4 PYT T L. APT PUT I TT &

Options :

68634082725. 1
68634082726. 2
68634082727. 3
68634082728. 4

Question Number : 83 Question Id : 68634020940 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Bhanu Athaiya was an Oscar awardee for the best costume design.

Statement IT: The movie 'Hey Ram' received Oscar award for the costume design

In the Light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

[ B

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT 15 false

4, Statement I is false but Statement IT is true

Options :

68634082729. 1
68634082730. 2
68634082731. 3
68634082732. 4

Question Number : 83 Question Id : 68634020940 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 & P R B

BYT : Y HUTT T JAIE IUYYT YD eD & [T SHH QTR W g3 U1
DU : 5 IH hed BT AR DT b folT e R 9 g fobar mar ol
SWRIGd HY- & 3Tl H, A= U Y fadedl § 9 Hel 3wk &1 90 HIf:

1. PUTI RIS gd g
YR I ST T B

[ )

3. PYTIgd o, AT YT I ST &

4 PYT T L. APT PUT I TT &

Options :

68634082729. 1
68634082730. 2
68634082731. 3
68634082732. 4

Question Number : 84 Question Id : 68634020941 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The characters of the play Hamlet' are Goneril and Brutus.

Statement IT: 'Tulius Caesar' 15 a comie play of Shakespeare.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

[ B

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT 15 false

4, Statement I is false but Statement IT is true

Options :

68634082733. 1
68634082734. 2
68634082735. 3
68634082736. 4

Question Number : 84 Question Id : 68634020941 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R FrERuauE:

P ; ‘THAC AP S U TRG SR Feq el

DU I ; “Sfergy HIoR: YRIIa 1 U6 g A1 § |

IWIed HYF & HTcie 4, A 30 MU fdedi H U Tg1 FTR &1 994 DITIg:

1. PUTI RIS gd g
YR I ST T B

[ )

3. PYTIgd o, AT YT I ST &

4 PYT T L. APT PUT I TT &

Options :

68634082733. 1
68634082734. 2
68634082735. 3
68634082736. 4

Question Number : 85 Question Id : 68634020942 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Expressing an idea or mood or portraying a character entirely by gesture and bodily movement
without the use of words is 'mime’

Statement IT: In theatre, Realism is a dramatic style in which character of the play move and talk m a manner
similar to that of everyday behaviour

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are tiue

(]

. Both Statement I and Statement IT are false

. Statement I is true but Statement IT is false

LF¥]

4. Statement I is false but Statement IT is true

Options :

68634082737. 1
68634082738. 2
68634082739. 3
68634082740. 4

Question Number : 85 Question Id : 68634020942 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R FrERuauE:

DU : Ysdl & IUANT & fa- 1 T e b d (SIF=R) U1 ARIRS Faa gRI {6l f[GTR a1 a-e=n a1t
O &1 307 @ S g

HUF 11 ; TTHE H guUriarg Ud Ares g Ut 7, S5 Tee & uE SHfiH $ aeR $ IHA e 9
T 3R ardfag a6 |

IWIed HYF & 3HTcid 4, A 30 U fdpedi H U Tl FTR &1 994 DITIg:

1L PUTI RIS Ta e
YR I ST T B

[ )

3. YT I 9T o, Al YT I 9T &

4 PYT T L. APT PUT I TT &

Options :

68634082737. 1
68634082738. 2
68634082739. 3
68634082740. 4

Question Number : 86 Question Id : 68634020943 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Colour 1s not an mmportant and powerful tool of the lighting designer.
Statement IT: Primary colours are Orange. Green, Violet

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

[ B

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT 15 false

4, Statement I is false but Statement IT is true

Options :

68634082741. 1
68634082742. 2
68634082743. 3
68634082744. 4

Question Number : 86 Question Id : 68634020943 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R FrERuaue:

HU 1 Ul (1) YBT 3HHHede & (7Y U Hgea ] QfeRT=mel Jre a7 ded e &
FHUT 11 : AR, B 3R ST wrufie aul €

IWIed HYF & 3HTcie 4, A 30 U fdpedi H U Tl FTR &1 994 DITIg:

1. PUTI RIS gd g
YR I ST T B

[ )

3. PYTIgd o, AT YT I ST &

4 PYT T L. APT PUT I TT &

Options :

68634082741. 1
68634082742. 2
68634082743. 3
68634082744. 4

Question Number : 87 Question Id : 68634020944 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Character study 18 an mevitable procedure for an Actor.” In this light, which of the following statements hold
good?

A. Character analysis by the actor. gives a new dimension to the entire play.
B. Character study leads to the skill enhancement of an actor.

C. Seripting must enhance the character, and it's not the duty of an actor

D. Director needs to take care of the character, not the actor for the entire play.

Choose the correct answer from the options given below:

1.B & C only

| B

. A & B only
3.A & Conly
4. A &D only

Options :

68634082745. 1
68634082746. 2
68634082747. 3
68634082748. 4

Question Number : 87 Question Id : 68634020944 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“U A & [T U 1 3rea Sufierd g1 58 3l § FERad ¥ S U U 82

A. ST GRT 9T &1 [Ae90T FUl 912 &1 4] SH HaH Hal g |

B. U &1 3004 a1 & HIRa-gat &1 A7 JERd $dl ¢

C. 3T 1 UTH BT Had- BRI 5141 &, AR T8 bl ST &1 Peiod T8l 5

D. Frqui ATess | FERe §R1 UM 1 @16 381 S Hawhe 3, | [ S gRI

i< fSU T fasedl § § Had SUgEd SR D1 IG FIIE:
1. $ad B 3R C
2.%ad A 3R B
3. Paq AR C
4.%dd A 3R D

Options :

68634082745. 1
68634082746. 2
68634082747. 3
68634082748. 4

Question Number : 88 Question Id : 68634020945 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Rasa 1s the fundamental 1dea of Art and Life". In this light, which of the following statements hold good?

A. The references for Rasa' are there even from Vedas.

B. Indian knowledge system. denied the idea of Rasa.

C. Rasa 1s purely applicable to the theatre only.

D. Rasa deals with the physical and psychological aspects of living beings.

Choose the correct answer from the options given below:

1. A& D only

| )

.B & C only
3.A & B only
4.B & D only

Options :

68634082749. 1
68634082750. 2
68634082751. 3
68634082752. 4



Question Number : 88 Question Id : 68634020945 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“TF, Pl SR 19 B g [G9R 51" 59 3Melie ¥ FEfarad ¥ S S $UF 3749 37
A, T & g, ugi aw [P agi § ot
B. HRD 319 WoITel = 39 & f69R &1 Gs- (5|

C. ¥¥ [4gs =u ¥ saq SHE & g O W B
D. 39 Gilal & AR R gTa3-e gai 9 H6fid )

i< fSU T fasedl § § Had SUgEd SR D1 IG FIIE:
1. %ad A AR D

PIAB AR C

.%dd A 3R B

4.%dd B 3R D

Options :

68634082749. 1
68634082750. 2
68634082751. 3
68634082752. 4

(R

Lad

Question Number : 89 Question Id : 68634020946 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the right statements from the following:

A. PAR lights are used for the stage performances, to enhance the quality of the visual spectacle.
B. There 15 no difference between working lights and stage lights.

C. Lights can't enhance the visual effects in performing arts.

D. Theatre lighting Technology has improved a lot. for better theatre experience.

E. Lighting Aesthetics is necessary for a light designer, when working in Theatre.

Choose the correct answer from the options given below:
1.B.C & D only
2.A.B&Conly
3.C,D & E only
4. A D&E only
Options :
68634082753. 1

68634082754. 2
68634082755. 3



68634082756. 4

Question Number : 89 Question Id : 68634020946 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frefead & 9 gel Syl @1 =98 FIfoT:

A, T TG @1 Ture %Hdtﬁﬂi%@ﬂﬂwgm 1ol oq WU SR, A13¢ Wgad &1 ol 3
B. AfHT-dgel 3R Tul-adlgel & a1 $iIs 3id¥ 7ol o

C. YTl Wdfd Harsdl I €fgs yuE 39— H%PI'WW|

D. THE & dgc 3HT & [ T B g Ot-ldﬂﬂffﬁ gieire] o umfﬂa?ﬂ?ﬁ? g3l

E. % USRI G SHedd o [0y YHIRI Higd S1avgsd 5, ofd dg WHd U S &l ¢

1= feu U fds el & O Tl Suged 3R &1 997 BT
1.$dd B, C 3R D
2. PAFA. B AR C
3.%ad C,D ARE
4. PAAA, D ARE

Options :

68634082753. 1
68634082754. 2
68634082755. 3
68634082756. 4

Question Number : 90 Question Id : 68634020947 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"Art 1s a way of living and way of being alive". In this light of Natyashastra which of the following statements
hold good?

A. Art is for re-creating the realities

B. Art can't exist in all streams of knowledge system.
C. Art 15 a debatable entity.

D. Art 18 not an independent entity.

Choose the correct answer from the options given below:

1.B & D only

[

.B & C only
J.A&Donly
4. A& Conly

Options :

68634082757. 1
68634082758. 2
68634082759. 3
68634082760. 4

Question Number : 90 Question Id : 68634020947 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“FHal Siia BT UH il 3R Shfdd T84 &1 Ud aiidl g1 Aed¥iE & Aaid § Aefafad 5 a sy
U ST 87

A. B TUITIS & Y9 & U g

B. all @I T4 WUITH! 1 T RIS H 31 "6l 81 Jbdl |

C. U8 U faame oo Ts 8|
D. BTl U WA 5PI5 1ol o

i< f3U T fas el § § gad SUgEd SR D1 984 HIoIE:

1. %dd B SR D
2. PIAB AR C
3.%ad A ARD
4. Pad A AR C

Options :
68634082757. 1
68634082758. 2



68634082759. 3
68634082760. 4

Question Number : 91 Question Id : 68634020948 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

" The 1dea of Invention and Discovery in Performing Arts". With reference to Natyashastra, which of the
tollowing statements hold good?

A Arts also undergo Evolution along with the sapiens.

B. Invention and Discovery 1s invalid in Performing Arts.

C. Choreography. Composing. Direction matters in Performing Arts.

D. There 1s distinction between the creativity. Improvisation and mvention, Discovery.

Choose the correct answer from the options given below:
1. A, C.D only
2.A.B. Conly
3.A B.Donly

4.B.C,D only

Options :

68634082761. 1
68634082762. 2
68634082763. 3
68634082764. 4

Question Number : 91 Question Id : 68634020948 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o

<ol Sl § TR IR @S &l [GaR |~ Aea=E & e § FAeied 8 9 &Y Y9 =y
b

&

A. T ff ST (@A) F 1Y SeAHN $ aR I ToRd 5
B. ISP R Td Giel Wi darali H 3H g
C. PIRATATPT, HISH, FHE¥H &7 vRgfd arsii § 75 g
D. JoiATES T, SHIAgeiRH SR HAhR, Wi & &b qUe gl
1= fau U fae et # ¥ 9o 9ugad SR &1 99 ST
1. AT A, C 3R D
AT A, B AR C
. %dd A. B3R D

4, HAAB, C ARD

(]

L



Options :

68634082761. 1
68634082762. 2
68634082763. 3
68634082764. 4

Question Number : 92 Question Id : 68634020949 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are Tragedies of William Shakespeare?

A. Romeo and Juliet. Hamlet

B. Twelth Night. Measure for Measure

C. Merchant of Venice, Two Noble Kinsmen
D. Othello. King Lear

E. Pericles, Merry Wives

Choose the correct answer from the options given below:

1.B & E only

|

A& C only
3.A&D only
4.B & D only

Options :

68634082765. 1
68634082766. 2
68634082767. 3
68634082768. 4

Question Number : 92 Question Id : 68634020949 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafer YRR & gaiq Aes S Y 32
A. fE TS e, gaee

B. Ca® TIgC, HoR BR AR

C. Heie 3P a9, g Aiad fh-aae
D. e, fob femR

E. URea, I aiged

e feu 7 faeedl & 9 9ad Sugad SR B 90 Pifold:
1. %ad B ARE

. Pad A AR C

3.%dd A HRD

4,990 B IR D

Options :

68634082765. 1
68634082766. 2
68634082767. 3
68634082768. 4

(R

Question Number : 93 Question Id : 68634020950 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Method acting will enhance the character and the Play". In this light, which of the following statements hold
good?

A. Method Acting is a skill and it can be the highest order of achievement for an actor.
B. Method Acting will spoil the play and Character.

C. Method Acting helps an actor in developing thoughts and experiences.

D. Method Acting will enhance the skills and perspective of an actor.

Choose the correct answer from the options given below:
1.B.C. & D only
2.A.B &D only
3.A.B&Conly
4. A C&D only
Options :
68634082769. 1
68634082770. 2

68634082771. 3
68634082772. 4



Question Number : 93 Question Id : 68634020950 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“Hyg a1 Ui 3fR ATee B Yaea il 1~ 39 e J (e § 3 S $YF 3F4d 62

A. “TYS TfaeTT U HINd § 3R I8 AT & Sualsl &1 Jdiw v 919 Ihdl g
B. YT UfGeT e 3R U1 &1 @3 T |

C. BUS THET SiiEda & [GaRT 3R sydl & [dom O SHa! Jerdl &l g

D. BYE UfEET a1 & H9d AR S0 &1 ad= S|

i< f3U T fas el § § gad SUgEd SR D1 984 HIoIE:
1.%ad B.C AR D

. Pad A, B SR D

PAd A, B AR C

4. HdA A, C IRD

Options :

68634082769. 1
68634082770. 2
68634082771. 3
68634082772. 4

| ]

Lad

Question Number : 94 Question Id : 68634020951 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
[ athalkali I. |Andhra Pradesh|
Burrakatha II. |Tamil Nadu
Bhagavatamela| III. [Kerala
Bayalata I'V. [Karnataka

ofow]

Choose the correct answer from the options given below:
1. A-IIL. B-1. C-II. D-IV
2. A-IL B-IIL C-1, D-IV
3. A-T B-IL C-IV, D-IIT
4. A-IV, B-II1, C-II, D-I
Options :
68634082773. 1

68634082774. 2
68634082775. 3



68634082776. 4

Question Number : 94 Question Id : 68634020951 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 13 1Y Gl 11 BT e B

T 1 (FATR) = 11 (3T59)
A [@ysdl L |efewcH

B. [R5 il GG
C. [urmaanar |1 [oed

D. [grmdel IV [@elcd
i feu U fasedl | U el IR &1 98- Hifel

1. A-IIL. B-1. C-II. D-IV

| )

A-IL B-III. C-1. D-IV

A-L B-II. C-IV, D-III

L% )

4. A-IV, B-I11, C-II. D-I

Options :

68634082773. 1
68634082774. 2
68634082775. 3
68634082776. 4

Question Number : 95 Question Id : 68634020952 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LIST IT
Yavati I. |Gurajada Apparao
Adhe Adhure | 11 |Ginish Karnad

Kanyashulkam | IIL |[Dharmaveer Bharat:
| Andhayug I'V. Mohan Rakesh

EEE

Choose the correct answer from the options given below:

1. A-I B-II, C-IV, D-III

| ]

CACIIDL B-IL C-I1L D-IV
3. AL B-IV, C-I, D-III

4. A-IV. B-III. C-II. D-I

Options :
68634082777. 1



68634082778. 2
68634082779. 3
68634082780. 4

Question Number : 95 Question Id : 68634020952 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 S 91y G 11 T T S
T 1 I 11
A [gard I [RISST 3R
B. [amd-arR il RS
C. [oamledr | 1L [erHdRR Wl
D. [siem IV. [HIgd T

i AU 7T faeedl © ¥ TEl 3R &1 994 Difeid|

1. A-I. B-II. C-IV, D-III

[ )

A-IIL B-I. C-IL. D-IV

CA-IL B-IV, C-1, D-III

L% ]

4. A-IV, B-II1, C-II, D-I

Options :

68634082777. 1
68634082778. 2
68634082779. 3
68634082780. 4

Question Number : 96 Question Id : 68634020953 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LIST IT
Sophocles I. |Oresteia
Euripides II. |Oedipus the King|

| Aeschyvlus I11. [The Clouds
Aristophanes | IV [Cyclops

ofow]-

Choose the correct answer from the options given below:

1. A-ITT, B-TIV, C-1, D-1I

| ]

CA-IL B-IV, C-1, D-III

3. ATV, B-1I, C-1I1, D-I

4. A-1, B-ITI. C-IV, D-II



Options :

68634082781. 1
68634082782. 2
68634082783. 3
68634082784. 4

Question Number : 96 Question Id : 68634020953 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT 1S Gy G 11 T A i

T 1 T I
N GIRAERE I |
RIS IL [3TE0s & 17
TEisaY | 1L [g aaie gy
TEehEg | IV [[Ees

i U U f[deedl | U Uel 3R &l 994 SIfow:

ofofw]s

1. A-IIL. B-IV, C-1. D-II

)

CA-IL B-IV. C-1, D-III

. A-IV, B-II., C-III. D-I

T

4. A-L. B-III. C-IV. D-II

Options :

68634082781. 1
68634082782. 2
68634082783. 3
68634082784. 4

Question Number : 97 Question Id : 68634020954 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT

LIST1I LISTIT
A PMr & Mrs. 35 I. Pames Cameroon|
B |Avatar 1. |Sukumar
C. [Ponnivan Selvan| ITT. [Gurudutt
D. |Pushpa IV, Mani Ratnam

Choose the correct answer from the options given below:
1. A-I, B-IL. C-III, D-IV
2. A-IT B-IIL C-I. D-IV
3. AL B-1L C-IV, D-II

4. A-IV, B-II, C-I11, D-I

Options :

68634082785. 1
68634082786. 2
68634082787. 3
68634082788. 4

Question Number : 97 Question Id : 68634020954 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT 1 S 1Y G 11 BT A ST
T 1 Tt 11

A [ e HES 55| I [OF dHEA

B. [3{ddR I [gHHR

C. [gfotrgH Yead 1L fTecd

D. [guq IV. [{OReH

Ty

Hid U U f[daedl | ¥ 9el 3R &l 994 SIfoiw:

1. A-I. B-II. C-III. D-IV

)

A-IL B-III. C-1. D-IV

. A-IIL B-1. C-IV, D-II

T

4. A-IV, B-II. C-III, D-I

Options :

68634082785. 1
68634082786. 2
68634082787. 3
68634082788. 4



Question Number : 98 Question Id : 68634020955 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
A INSD I. [Kolkata
B [FTII II. |Chennai
C. |SRFTI ITT. [New Delhi
D. PMGRFTI IV. |Pune

Choose the correct answer from the options given below:

1. A-ITL. B-II. C-IV. D-I

| ]

CA-IL B-IIL G-I D-IV

CA-IILL B-IV. C-I, D-1I

L¥¥]

4. A-III. B-1. C-IV. D-1I

Options :

68634082789. 1
68634082790. 2
68634082791. 3
68634082792. 4

Question Number : 98 Question Id : 68634020955 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 Y Gl 11 BT A S
T 1 TqE& 10
A [ UYEL (NSD) I. [
B. [e® .31 3015 315, (FTI) I {3
C. |09 3R UB 1 313 (SRETD) L. 1S feeatt
D. [39.51 3R U 1. 3Ts. (MGRETD)| [V. [q0i

Ty

Hid U U f[daedl | ¥ 9el 3R &l 994 SIfoiw:

1. A-IIL. B-II. C-IV, D-I

)

A-IL B-III. C-1. D-IV

. A-IIL B-IV. C-I, D-II

T

4. A-IIL B-I1. C-IV. D-II

Options :

68634082789. 1
68634082790. 2
68634082791. 3



68634082792. 4

Question Number : 99 Question Id : 68634020956 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LIST IT
A Vocasta I. |Urubhangam
B. [Duray 1I. |Othello
C. |Cassio I11. [Hayavadana
D. Devadatta I'V. |Oedipus the King]

Choose the correct answer from the options given below:

1. A-L B-II, C-III, D-IV

| ]

CACIITL B-IL C-I1L D-IV
3. ATV, B-L, C-1I1, D-IIT

4. A-I1. B-IL. C-I. D-IV

Options :

68634082793. 1
68634082794. 2
68634082795. 3
68634082796. 4

Question Number : 99 Question Id : 68634020956 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT 1S 91y Yl 11 &7 T i

T 1 T I
A [H@Re I [334TH
B. [guig IL [afal
C. [t IIL. [gTdad
D. [gggd IV. [Ty &
== fau e faw el # 9 98l 9Tk &1 997 DI

1. A-I, B-II. C-III. D-IV

| ]

CA-IL B-IL C-IL D-IV

CA-IV, B-1, C-IIL D-III

L]

4. A-II, B-1II, C-I. D-IV

Options :
68634082793. 1



68634082794. 2
68634082795. 3
68634082796. 4

Question Number : 100 Question Id : 68634020957 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A PK I. |Shahrukh Khan|
B. [Hey Ram II. |Prabhas
C. [Bahubali IT1. |Amir Khan
D). |Pathan IV, |[Kamal Hasan

Choose the correct answer from the options given below:

1. A-IT. B-I, C-IT1, D-IV

| )

CACIITL B-TV, C-I1, D-I

CA-TV, BT, C-ITT, D-I
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4. A-I, B-II1. C-II. D-IV

Options :

68634082797. 1
68634082798. 2
68634082799. 3
68634082800. 4

Question Number : 100 Question Id : 68634020957 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IT. B-I. C-IIL. D-IV

| ]

CA-ILL B-IV, C-I1, D-I

CA-TV, B-IT, C-IT1, D-I
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4. A-I, B-III. C-IT. D-IV



Options :

68634082797. 1
68634082798. 2
68634082799. 3
68634082800. 4



